AYBEX | <3x+2<59 7ta<x<bd uf, a+ bo ZHE?

®-1  @o ® 1 @ 2

® 3

-1<3x+2<5
-3<3x<3
-1<x<1
a=-1,b=1
a+b=0







BSXax®+bx+c>09 370 <a<x<pgdd
cx? —bx+a>09 df=?

1 1 1 1
®x<—FEx>—— @ x<-—_ FEEx>-—
a B B @
1 1
@——< <-= @ —<x<=
2 @ B
1 1
® -<x<-—
B

ax* +bx+c>09 H7ta<x<polBEE
a<0°leh3l7b0 <o <x<p ol
|22 A7} 191 HEAL (x-a)(x-F) <0
FHf ¢ & Fo5IH

a(x—a)(x=B) >0

ax® — a(a + B)x + aaf > 0

o b=—-ala+p), ¢ =aaP

e A ex? — bx+a > 0 o] HASHA
aafBx® +ala+pB)x+a>0

apx® + (@ +p)x+1<0
(ax+1)(Bx+1) <0

,'.—é<x<—é (-0<a<p)




HED —1<x<2

BEA x2-4<0°0A (x+2)(x-2) <0

x?—4x <504 x2 —4x-5<0
(x+1)(x=5)<0

gt ke H 9T 0
Ao B x o] gholBE
L-l<x<?2




OJZFRGA] (k—1)x%-2(k—1)x+1 < 0& TEdh= A x7F A 5HA]
BEF of= A5 kgho] H9e?

D k>1 @ k<1, k=2 ® k<1, k>2

@ 1<k<?2 O) <k<?2

k#1013 ol BEo9A

k—=1>0,.. k>1---@
D
Z:(1¢_1)2—(k—1)50
k2 =3k+2=(k-1)(k-2)<0

" 1<k<2---@

DI Q= ZAlo HEGoFFIERE 1 <k <2




